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10.3.1.2. Count SSCC

Enter the number of full SSCC's.

If the number of the entered SSCC'’s does not correspond to the number of full SSCC's in the system,
the system requires to perform the ‘Count everything’ cycle count task.
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If the number of entered SSCC’s corresponds to the number of full SSCC’s in the system, the system
will ask to enter the data for the partial SSCC’s.

When there are partial SSCC'’s on the location, proceed by scanning the SSCC on the partial logistic
unit or press the ‘No SSCC’ button. Then the ‘Count everything’ cycle count task will be performed for

those logistic units.
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Are you sure this location has
no partial SSCC's?

No SSCC

Location has no partial Yes -
SSCC's
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When there are no partial SSCC’s, press the ‘Location has no partial SSCC’s’ button. Then the system
will ask whether there are partial SSCC’s on the location. Confirm this action.
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